Name: Date: Block:

STEM - Math 8

Unit 1 — Integers

Lesson 5 - Order of Operations

e N
Goals: Warm — up:
- Perform the Order of Operations on integers. Do you remember what BEDMAS stands for? )
S
» In a mathematical expression with man the will di ccording to the order
in which the calculations are done. - 2
+ = X P Answer
> The‘ order of operationslis a rule used to determine the correct sequence of calculations in a
L mathematical expression.
vy
4 ) ™
Brackets:
According to the order ofoperations bracket be completed first.
Compare:
2 %349 V.s. @ (3+4)
\_ [iLt‘ S
\
Exponents:
» When the same number is multiplied a repeated number of times, we write it in aay which is
exponential form.
(expenentia form) 7 base ) exconent )
For Example: / /7 ¢ S Y\D(’\'U\,"
Repeated multiplication Exhonential }ofﬁ In Words: Standard Form
N /
95 v
! 3333 Y Weetot hepowedfour 8 \
]
o[ ey EE)r @) B NgEe Tekethe |37
powelr O ?\ Je
- ; : 0 0 0
ex st} Note:any number raised to the power of zero is defined as 1 (ex3" = 1; 4" = 1; 55365" = 1.)
zea(SC"_"‘; However, 0 is UNDEFINED!
\Z J
. N\
Order of Operations:
1. Calculate all operations in brackets first.
2. Simplify all exponent expressions
3. Do multiplication and division as theyJoccur] working from| left to right).
4. Do addition and subtraction as theyfoccug, working fromy left to right.
To remember the order of operations, the acronym BEDMAS is used.
|. B-—Brackets
ri 2 E — Exponents
L@ .9 ivision
al 7l o]
— ’-\k‘-.' 3 — Multiplication
e — Additi
| ﬁ&_ L{— E - ition
i . ubtraction
- J
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n 23
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Ex: Evaluate: % z OM L’ZM-L) (73 5 ;C-_/ DA A4S )
@jw b. (-2)*-(3)° + 10
X 8r (-B)Qﬂ)ﬂo
64+ —72+10
,\[32) Lo ], L7 7
e 6-(222-3+5-(-2) d. —3:(6—2)+2(5+3) k. _,5“ _;ZZ _5>
(6 F-3+5-(2) =3 e®) o g
Q%“Zﬁ*@ =928 -g 24 g
A4 =>+(=10 ~36+ (b

(1]

A +(-10) =

(- 20

(-2)2(23-9)+2

(R
(2) (1) oL

Ty
1]

f. 2[2+3)%+ 3+ D7

Z[(S) @)

C Jou

( ) b,c",

V

I
20(5T+ (28) ] i A:
<+L-}X—)>+Q\ r—) 2( A5 ‘)‘718 Q\ ac ks
“4+Q  =[-Z2|12080%] - <
Assignment — No Calculator:
Level 1: .
1. Evaluate. Circle the part you do first then find the answer
a. 4+2-3= [ b. (4+2):3= [ c. (10-2)-3= ZLl-
d. (—12)+(—4)x8='_'+,+ e. 12 +4-3= QI f. (-12)+3-5= _E'
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g 3-21+7= d

i 13x(=5)+2-—32.9

Level 2:

h. 24 +8 4+ 5-2= 6

k. (—11) X (=4 +2) = 22

2. Simplify. Write out the repeated multiplication before evaluating.

(-1)3= -1

(-1) X (1) X (-1)
=1

. -8

d. (-2)3

b. (-1)5=__ —

(-2)*= &

3. What is the pattern between even exponents of a negative integer?

QY@

(=X )

- +

i. 2:3%

:

. (32—19)+(—2)=i

c. (-1)?%==

f. (=2)%= \

ﬁ\{\._&:? 3 | Y
P

4. Whatis the patter

(—x)

between odd exponents of a negative integer?

= &)

5. Write each number in terms of a power.

a. 2X2x2x2

b (—4)- (~) - (=) (~4)- (-4)
e —(-2)(-2): (-2)- (-2)

e 23*
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c. 2:5-2-2-5

s

f. 7-7-7-2-2



6. Evaluate. Box your final answer,

a. 2-42+432 b. 8°-5—32 c. 32-5-23:4
d. 64 +(12-2?) e. 3(6—4)? f. (5-12)2+7
g 50-10x(7+2) h. 12+ (6-3)x4 L 2:6-5)x4)

T (-5-4)

7. A concert has adult tickets for $15 and child tickets for $10. Marcus bought 4 adult ticket and 3 child tickets.
How much money did he spend?

$I5 x4+ §l0X D = $C{D

8. Find the area of the shaded region. Show your work. Area of a rectangleis: A =[x w

15cm

| 2cm

3cm

2%1) + [5-DxZ |- Tep?

7cm
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Level 3:
9. Insert brackets to make the expression correct.

a.<5+2)32 =27 % -'1':)— b. s-e—j-mo

c. (—az—ég?:—zo d.@—28}4x7=—35

10. Evaluate.
a. —3%[4—(-6)] b. (=2)[—6— (—4)] ~144(-2)?
6—(-2)
[}
-23[(-3)%-(-1)3] 5243 (—4)? 4-224(=2)
d. e. e — et O
—4+(—6) 2 8 14+3(—4)

11. A scuba diver took 24 minutes to reach the ocean floor off Vancouver Island. Her rate of descent was -8m/min.
After every 4 minutes she paused for 1 minute to prevent nitrogen buildup. How deep was the ocean floor?

"0
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